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Pass Marks : 30

Time : Three hours
The figures fu the margit inilicate full marks

for the questions,

20a9
BENGALI

(MODERN INDIAN LANGUAGE)

(NEW & OLD COURSE)

Full Marks : 100

GROUP-A (NEw CoURSE)
PageNos. 1-6 Q.Nos. 1-1L

GROUP-B (OLD COURSE)
Page Nos. 7 - 11. Q. Nos. 1 - 10

NEW COURSE

Q. No.7 carries 7 matk each 7x2=2

Q. No.2 caries 7 mar* each 1x9=9

Q. No. 3 carries 21h ma*s each 2y2x2=5

Q. No.4 wrries 3 mark each 3x2=6

Q. No.5 caries 3 marks each 3x4=72

Q. No. 6 urries 3 mar}a each 3x3=9

Q. No.7 (a+b) carries 4 marks each 4x2=8

Q. No. 8 (d+b) cqrries 9 nlarks 4+5=9

Q. No. 9 urries the follouing marks

(a) 1x5=5

@ 1x5=5

Q. No. 70 cqnies the folloruing marks

Q, No, 77 carries 70 marls

(a) 1,x4=4

(b) 2x4=8

@ 3x2=6
(d) 1x2=2

1x10=10

Total = lm

OLD COURSE

Q. No.7 carries 7 matk each -lx2=2

Q. No- 2 uties 7 mark each 1x8=8

Q. No. 3 carnes 2 marks each 2x2=4

Q. No. 4 carries 3 marks each 3x3=9

Q. No. 5 caries 3 narks each 3x2=6

Q. No- 6 caries 4 marks each 4x2=8

Q. No.7 (a+b) ceties t harks 4+5=9

Q. No.8 (a+b) caries 9 marks 4+5=9

Q. No. 9 caries thz follouing mork
(a) 1x4=4

ft) 3x2_6

@ 1x4=4
(d) 2x2=4

@ 1.x2-2

Q. No. 10 carries 15 marks 1x15=15

Q. N0.77 carrics 10 marks 1x10=10

Total = 100



GROUP-A

(For l{ew Course)
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(n) Ft<qloKrs'$srKI qBat'<<t N cr{ ?

tq) 'q-q< <ffi cq-{rs D-{qsr<' - 'E|QR <tuFk <"fqt fl.e I
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(s) 'xrei RlR' atqrs.tF{ cq?rs cs r go< Rcn c$F[ Tfcffi +s stRnt q-'i{

<rfu z

(s) "Rrq< qtqBr qE;s(ctqfr TdRr" - Ufut 6d{ "l15 
(qrs c{srt qcsrq ?
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v I Cs @ldl fuE grd< te< n€ o ex e=b

(o) cattR+mrq colqH q-{ el{t TrnREa r 6t< Ftst 'g Ftstlc< {FI c{BII I

({) '\cG <V Ih {G frfrre fi1qr

6$F e6t {lR 6F r.[Fi qls{ il"

- "tqfu 18re we[<<-+ sFrgr C{ sel Tdt EC{rq Et -"8 rr-<t r

(n) <Mft"$q <q calr+oIceK E{tK fi @c-{ fi(fi ,e<( EI ficl BtIfi ft o<-c+q

TFi Nt-<&(E-{'?

(R)'TfrnsF' TR\9l{ "lEs slsf{ qr, (sl{ c$'li {fu <FIqrF{ TcIt €l qcrR ?

1 r tss-< qls , t)(O=o

(o) ?+c.n<-+trffi cq coitt4l fEbfiB' q*r5 qrEtu-{ Tt-<t r
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r
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t' I q$qq <jFBI Sr{t 3 8+d'=b

(s) 'q${ {sFI c!;I afc$ E[{ v-Ics'l
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. TGI q'ITl{
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I<rrd31 q{TE I'
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(q) t{Rm €t+ €rqr-sR<s<ld{fli s a9rsra a<rqfi ftt qtro-a'rfu tFclIR
frff$ GtsrPIsLl{ q-qs €N c{dq{r"

q</ql

"sRF qFI bm< n+ot< EF Tl ("fisF I tR;nstqt vF cms frst Tls t"

b I {*qixl s {-qi{ cal(s 'aoEstT $cs< E-e-< !]te g c'+c=)o

($) 'qcqT< qq{Rbr'+ffis sqorftq qrrffi c{ sR TF Edtqq fim<

vmm <"fqt oc-<t t

![ce/

'<{q<t' skst{ sF< qq-w{c"l]D-{K +rq ffit cra t

(<) EEqr<< ft(q< <f{R cls' airfl{ qa Fm t - qrcElu{ $t-<l I

qckl

flq{ ilT$K(6K aqf+-sl fiEK $t-<tt'alrfq q{ft'

>o t ffit q{nff< Eq,,,,,,,,,,,,,,.< ntg :

(s) ficu{ R @ltri rr*EeRq-er<Erffi qd mcfi s

atrrwo tofl 'FTr, EFI meR cqrc DE"fl'J' cqft"l {t<I c$l'l TKt' dA cqd-N

slst Trqt, B-{<({ {sl wrr{l I

({) frcs< c4 cqtrrt a76a$lk qd cEc'tt s <fsi-<Fil sm 3

\x8=v

ctlK{ ticcf'I, ?Fry "im, wa< sE, q-{cq] c{lq-d'' [D-11"K <tF' fittfr +r+ t
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(rt) fiffi cq cql61t &q?Ailc-<l$rc-{wH ffi <ffii : lxe:s
ssffll, E tTs, qs<fi, v<sNR fiFHr

(E) fuE cq coldtSfi.rw< 16+c< a&tr cac.n : )+)=i
qt, q-fiq, 6E, ffi 1

)) I A reffi Aqf firrn <E-{t 64Rlt s

(s) w{rffi Tfu ftE

({) Nffi Gn sR

tttl ?na&{ fr<o fietr+< svt<r

(R) "tRt<-t 1t"t s q< afuomr

5o

-x-

29T MBEN t6l



GROUP-B

(For Old Coursel

> r qd6Er{ls (s) fi-ftr w&/'prrq >+)=t

({) EITi qq?lvEFH

t r q& x&g Ee-< ns z )xE=E
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QqW l'for.<'t)

(tr) '<tsEli $tqtfr fiffi'+ffi rfi{ nrcq'< \trs5fu l
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(s) sffi-drcl< pcEr 4r fr ?

(5) 'r& ftsk 4{ ff RE r

(A )b1b rt(6i3r ilAr ftst q{i afcfi6tl afrqq ss er$F {ElKfcsR stB-o etw
Sr;rcqil ?

(q) t+rttr+lq Ftefrotr-t< mIs< ?

e I FIot cqr.Il:

(o) frFtr+ w?&E-"ll

({) rr{I w<qtd{-+ ffir

\+ \=8
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I r a rdr+ rE g[q< tg< tl's a ax {=s
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el.tlrn <rc ?{ T$ c"rE rrer< qRm 
t
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b r frrfl w{fiK EE< ql€ s
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(!) fitu{ fi r+I.il fE <l'Lftlk qd onu e <lrr rF{t omt:
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qrts, {fqt, qnfEltl? 61q, slTlcg {q, ft[efr 4l+ I

(s) fit5< 6q @lrat ffr saw<qd 6dnn g : x i=t

s1-{ vt{r ft(<< fts, ccrln ca$r+ c+mr*fi' dtq {t'aq ctifrs NE tflTl

qfiF fr ffi€-rl{ r
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(s) {< qafq s v"t lqG
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(!) w{cffi arSG< a"lt t
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